

Thematic Campaigns 111 W ILLINOIS ST CHICAGO, IL 60654-4505

Contract # 63727 Schedule Dates 05/14/24-05/21/24 **Advertiser** Friends of Tobias Read (5949) Agency Thematic Campaigns (2728) Product Political - Candidates (1151) **Brand** Tobias Read (27573)

Salesperson Katz Chicago, Katz Chicago (1014) Sales Office Katz Chicago **Buyer Name** EMBRO, CORISSA

Phone/Fax CPE N/A

Account Types

Billing Type Standard Comments Tobias Read

BRIAN LAMONT - MIL/CHICAGO

National/Political Candidate - Agency

Date Entered 04/24/24 **Last Modified** 05/15/24 Dan Obrien **Entered By**

No CO-OP

ECR28394860 External # Demo A35+/H

Order Type Normal

Package Deal

Commission % 15.00 Commission \$1,015.65

Net Total \$5,755.35

Sales Tax

Eugene ABC (KEZI) By Broadcast Month Spots <u>Rate</u> May. 2024 85 \$6,771.00 Grand Total: 85 \$6,771.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa S	Su S	pots	Rate	Total	Station	Comments	Entered
1.0	Normal Line / SPOT	05/14/24-05/17/24	5		6A- KEZI 9 News This Morning at 6am	5		Χ	Х	Х	х			5	\$65.00	\$325.00	Eugene ABC (KEZI)		4/24/24
2.0	Revised Line / SPOT	05/20/24-05/21/24	5		6A- KEZI 9 News This Morning at 6am	1	Х	Χ									Eugene ABC (KEZI)		4/24/24
2.1	Normal Line / SPOT	05/20/24-05/21/24	5		6A- KEZI 9 News This Morning at 6am		1	1						2	\$65.00	\$130.00	Eugene ABC (KEZI)		5/15/24
3.0	Normal Line / SPOT	05/14/24-05/17/24	5	:30	7A- Good Morning America	5		Χ	Х	Х	Х			5	\$75.00	\$375.00	Eugene ABC (KEZI)		4/24/24
4.0	Normal Line / SPOT	05/20/24-05/21/24	5	:30	7A- Good Morning America		1	1						2	\$75.00	\$150.00	Eugene ABC (KEZI)		4/24/24
5.0	Normal Line / SPOT	05/18/24-05/18/24	4		8:30A- KEZI 9 News This Morning Saturday							1		1	\$60.00	\$60.00	Eugene ABC (KEZI)		4/24/24
6.0	Normal Line / SPOT	05/19/24-05/19/24	5		7A- Good Morning America Sunday								1	1	\$50.00	\$50.00	Eugene ABC (KEZI)		4/24/24
7.0	Normal Line / SPOT	05/19/24-05/19/24	4		8:58A- This Week with George Stephanopoulos								1		\$75.00		Eugene ABC (KEZI)		4/24/24
7.0.1	Closed Preempt	05/19/24															Eugene ABC (KEZI)	Program Change/Exception	
8.0	Normal Line / SPOT	05/14/24-05/17/24	6	:30	9A- Live with Kelly	2		Χ	Х	Х	Х			2	\$30.00	\$60.00	Eugene ABC (KEZI)		4/24/24
	<u> </u>				CONI		2 // //	ΛТ		NI (20	TIA	- П						

CONFIRMATION CONTRACT Date: Comments: Accepted-Agency/Advertiser: Date: Accepted-Station:

KEZI/MeTV does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race, ethnicity or gender.

B/E Bookend P/B Piggy Back

Printed At: 03:20 PM on Wednesday, May 15 2024



Thematic Campaigns 111 W ILLINOIS ST CHICAGO, IL 60654-4505

Schedule Dates 05/14/24-05/21/24 **Advertiser** Friends of Tobias Read (5949) Agency Thematic Campaigns (2728)

Contract #

Product Political - Candidates (1151) **Brand** Tobias Read (27573)

63727

Salesperson Katz Chicago, Katz Chicago (1014)

Sales Office Katz Chicago EMBRO, CORISSA **Buyer Name**

Phone/Fax CPE N/A

Account Types National/Political Candidate - Agency

Billing Type Standard Comments Tobias Read BRIAN LAMONT - MIL/CHICAGO **Date Entered** 04/24/24 **Last Modified** 05/15/24

Dan Obrien **Entered By** CO-OP No

External # ECR28394860

Demo A35+/H Order Type Normal

Package Deal

Commission % 15.00

Commission \$1,015.65 **Net Total** \$5,755.35

Sales Tax

Eugene ABC (KEZI) <u>Rate</u> By Broadcast Month Spots May. 2024 \$6,771.00 Grand Total: 85 \$6,771.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	14/0	Th	Er	C2	c	Spots	Rate	Total	Station	Comments	Entered
Line	Line Type / Break Type (Rei #)	Dates	Sec	Lengui	Ruit Tilles	3F VV	MO	Tu	vve	- 111	П	3a	3u	Spots	Rate	I Oldi	Station	Comments	Entered
9.0	Normal Line / SPOT	05/14/24-05/17/24	6	:30	9:58:25A- View, The	1		Χ	Х	Х	Х			1	\$45.00	\$45.00	Eugene ABC (KEZI)		4/24/24
10.0	Normal Line / SPOT	05/20/24-05/21/24	6	:30	9:58:25A- View, The	1	Х	Χ						1	\$45.00	\$45.00	Eugene ABC (KEZI)		4/24/24
11.0	Normal Line / SPOT	05/14/24-05/17/24	4		10:58:41A- KEZI 9 News Midday	5		Х	Х	Х	Х			5	\$45.00	\$225.00	Eugene ABC (KEZI)		4/24/24
12.0	Normal Line / SPOT	05/14/24-05/17/24	6		11:57:56A- GMA3: What You Need to Know	2		Х	Х	Х	Х			2	\$30.00	\$60.00	Eugene ABC (KEZI)		4/24/24
13.0	Normal Line / SPOT	05/20/24-05/20/24	6	:30	1P- General Hospital		1							1	\$20.00	\$20.00	Eugene ABC (KEZI)		4/24/24
14.0	Normal Line / SPOT	05/14/24-05/17/24	6	:30	3P- Judge Judy	3		Χ	Х	Х	Х			3	\$30.00	\$90.00	Eugene ABC (KEZI)		4/24/24
15.0	Normal Line / SPOT	05/14/24-05/17/24	6	:30	3:30P- Judge Judy			1	1	1	1			4	\$30.00	\$120.00	Eugene ABC (KEZI)		4/24/24
16.0	Normal Line / SPOT	05/20/24-05/20/24	6	:30	3:30P- Judge Judy		1							1	\$30.00	\$30.00	Eugene ABC (KEZI)		4/24/24
17.0	Normal Line / SPOT	05/14/24-05/17/24	5		4:58:30P- KEZI 9 News at 5pm			1	1	1	1			4	\$175.00	\$700.00	Eugene ABC (KEZI)		4/24/24
18.0	Normal Line / SPOT	05/20/24-05/20/24	5		4:58:30P- KEZI 9 News at 5pm		1							1	\$175.00	\$175.00	Eugene ABC (KEZI)		4/24/24
19.0	Normal Line / SPOT	05/14/24-05/17/24	5	:30	6P- KEZI 9 News at 6pm	2		Х	Х	Х	Х			2	\$165.00	\$330.00	Eugene ABC (KEZI)		4/24/24
20.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	6P- KEZI 9 News at 6pm		1							1	\$165.00	\$165.00	Eugene ABC (KEZI)		4/24/24
	1	•					S B //	Λ —		N I	20	1 4 /		Λ Ο	_			1	

CONFIRMATION CONTRACT Date: Comments: Accepted-Agency/Advertiser: Date: Accepted-Station:

KEZI/MeTV does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race, ethnicity or gender.



Thematic Campaigns 111 W ILLINOIS ST CHICAGO, IL 60654-4505

Contract # 63727
Schedule Dates 05/14/24-05/21/24
Advertiser Friends of Tobias R

Advertiser Friends of Tobias Read (5949)

Agency Thematic Campaigns (2728)

Product Political - Candidates (1151)
Brand Tobias Read (27573)

 Sales Person
 Katz Chicago, Katz Chicago (1014)

 Sales Office
 Katz Chicago

 Buyer Name
 EMBRO, CORISSA

Phone/Fax /
CPE N/A

Account Types National/Political Candidate - Agency

Billing Type Standard
Comments Tobias Read

BRIAN LAMONT - MIL/CHICAGO

 Date Entered
 04/24/24

 Last Modified
 05/15/24

Entered By Dan Obrien
CO-OP No

External # ECR28394860

Demo A35+/H Order Type Normal

Package Deal

Commission % 15.00

 Commission
 \$1,015.65

 Net Total
 \$5,755.35

Sales Tax

 Eugene ABC (KEZI)

 By Broadcast Month
 Spots
 Rate

 May. 2024
 85
 \$6,771.00

 Grand Total:
 85
 \$6,771.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr S	Sa S	Su	Spots	Rate	Total	Station	Comments	Entered
21.0	Normal Line / SPOT	05/14/24-05/17/24	4	:30	7P- Family Feud	1		Х	Х	Х	Х			1	\$85.00	\$85.00	Eugene ABC (KEZI)		4/24/24
22.0	Normal Line / SPOT	05/16/24-05/16/24	6	:30	8P- 9-1-1					1				1	\$175.00	\$175.00	Eugene ABC (KEZI)		4/24/24
23.0	Normal Line / SPOT	05/17/24-05/17/24	6	:30	8P- Shark Tank						1				\$175.00		Eugene ABC (KEZI)		4/24/24
23.0.1	Closed Preempt	05/17/24															Eugene ABC (KEZI)	Program Change/Exception	
24.0	Normal Line / SPOT	05/17/24-05/17/24	6	:30	9P- 20/20						1			1	\$125.00	\$125.00	Eugene ABC (KEZI)		4/24/24
25.0	Normal Line / SPOT	05/19/24-05/19/24	6	:30	8:02P- American Idol							1	2	2	\$250.00	\$500.00	Eugene ABC (KEZI)		4/24/24
26.0	Normal Line / SPOT	05/14/24-05/17/24	5	:30	11:00:56P- KEZI 9 News at 11pm	7		Х	Х	Х	Х			7	\$80.00	\$560.00	Eugene ABC (KEZI)		4/24/24
27.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	11:00:56P- KEZI 9 News at 11pm		1							1	\$80.00	\$80.00	Eugene ABC (KEZI)		4/24/24
28.0	Normal Line / SPOT	05/18/24-05/18/24	5	:30	11:00:56P- KEZI 9 News at 11pm Saturday							1		1	\$65.00	\$65.00	Eugene ABC (KEZI)		4/24/24
29.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	11:02P- KEZI 9 News at 11pm Sunday							1	1	1	\$65.00	\$65.00	Eugene ABC (KEZI)		4/24/24
30.0	Normal Line / SPOT	05/14/24-05/17/24	6	:30	11:35P- Jimmy Kimmel Live			1	1	1	1			4	\$20.00	\$80.00	Eugene ABC (KEZI)		4/24/24
					CON) I. /I	ΛТ		NI (20	NIT	Ь	٧ ()	т				
					CON		RM	ΑI	IU	IN (\mathcal{O}	ΝI	K	AC	I				

Accepted-Agency/Advertiser: Date: Accepted-Station: Date: Comments:

KEZI/MeTV does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race, ethnicity or gender.



Thematic Campaigns 111 W ILLINOIS ST CHICAGO, IL 60654-4505 Contract # 63727 Schedule Dates 05/14/24-09

Schedule Dates 05/14/24-05/21/24
Advertiser Friends of Tobias Read (5949)

Agency Thematic Campaigns (2728)

Product Political - Candidates (1151)

Brand Tobias Read (27573)
Salesperson Katz Chicago, Katz Chicago (1014)

Sales Office Katz Chicago
Buyer Name EMBRO, CORISSA

Phone/Fax /
CPE N/A

Account Types National/Political Candidate - Agency

Billing Type Standard

Comments Tobias Read
BRIAN LAMONT - MIL/CHICAGO

 Date Entered
 04/24/24

 Last Modified
 05/15/24

Entered By Dan Obrien
CO-OP No

External # ECR28394860

Demo A35+/H Order Type Normal

Package Deal

Commission % 15.00

 Commission
 \$1,015.65

 Net Total
 \$5,755.35

Date:

Comments:

Sales Tax

 Eugene ABC (KEZI)

 By Broadcast Month
 Spots
 Rate

 May. 2024
 85
 \$6,771.00

 Grand Total:
 85
 \$6,771.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa S	Su	Spots	Rate	Total	Station	Comments	Entered
31.0	Normal Line / SPOT	05/20/24-05/20/24	6	:30	11:35P- Jimmy Kimmel Live		1							1	\$20.00	\$20.00	Eugene ABC (KEZI)		4/24/24
32.0	Normal Line / SPOT	05/14/24-05/17/24	6	:30	12:37A- ABC News Nightline			1	1	1	1			4	\$5.00	\$20.00	Eugene ABC (KEZI)		4/24/24
33.0	Normal Line / SPOT	05/20/24-05/20/24	6	:30	12:37A- ABC News Nightline		1							1	\$5.00	\$5.00	Eugene ABC (KEZI)		4/24/24
34.0	Normal Line / SPOT	05/14/24-05/17/24	6	:30	1:05A- 2A (PST)			1	1	1	1			4	\$4.00	\$16.00	Eugene ABC (KEZI)	ET/Family Feud	4/24/24
35.0	M/G For 7.0.1 / SPOT	05/14/24-05/17/24	5	:30	3:59:30P- KEZI 9 News at 4pm	1		Х	Х	Х	Х			1	\$75.00	\$75.00	Eugene ABC (KEZI)		5/10/24
36.0	M/G For 23.0.1 / SPOT	05/17/24-05/17/24	6	:30	7:57:25P- Jeopardy! Masters	1					Х			1	\$175.00	\$175.00	Eugene ABC (KEZI)		5/10/24
37.0	Normal Line / SPOT	05/20/24-05/21/24	6	:30	5A- KEZI 9 News This Morning at 5am		1	1						2	\$20.00	\$40.00	Eugene ABC (KEZI)		5/15/24
38.0	Normal Line / SPOT	05/20/24-05/20/24	6	:30	11:57:56A- GMA3: What You Need to Know	1	Х							1	\$30.00	\$30.00	Eugene ABC (KEZI)		5/15/24
39.0	Normal Line / SPOT	05/20/24-05/21/24	4	:30	10:58:41A- KEZI 9 News Midday	1	Х	Х						1	\$45.00	\$45.00	Eugene ABC (KEZI)		5/15/24
40.0	Normal Line / SPOT	05/20/24-05/20/24	6	:30	3P- Judge Judy	1	Х							1	\$30.00	\$30.00	Eugene ABC (KEZI)		5/15/24
41.0	Normal Line / SPOT	05/20/24-05/20/24	4	:30	4:30P- KEZI 9 News at 4pm	1	Х							1	\$115.00	\$115.00	Eugene ABC (KEZI)		5/15/24
		<u> </u>			CON	FIF	RMA	ΑΤΙ	10	N (CO	NT	R	AC	T				II .

KEZI/MeTV does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race,ethnicity or gender.

Accepted-Station:

Date:

Accepted-Agency/Advertiser:

		OX 7009 NGFIELD, OR 97475	Contract # Schedule Dates Advertiser Agency Product Brand Salesperson	63727 05/14/24-05/21, Friends of Tobia Thematic Campa Political - Candid Tobias Read (27 Katz Chicago, Ka	(2728) (1151))		L 6 6	Date Ent Last Mod Entered I CO-OP External Demo Order Ty	lified 05 By Do No # EC	1/24/24 5/15/24 an Obrien o CR28394860 35+/H ormal		By Broadcast Month May. 2024 Grand Total:		Rate \$6,771.00 \$6,771.00	
111	matic Campaigns W ILLINOIS ST CAGO, IL 60654-4505		Sales Office Buyer Name Phone/Fax CPE Account Types Billing Type Comments	Katz Chicago EMBRO,CORISSA / N/A National/Politica Standard Tobias Read BRIAN LAMONT - N	didate :	- Agency		((Package Commiss Commiss Net Tota Sales Tax	sion % 15 sion \$1 I \$5	5.00 1,015.65 5,755.35					
Line	Line Type / Break Type (Ref #	t) Dates	Sec Length	Run Times	SPW	Mo_T	'u We Th	n Fr Sa	a Su	Spots	Rate	Total		Station	Comments	Entered
	Normal Line / SPOT	05/20/24-05/20/24	4 :30 7P- Fam			Х				1	\$85.0		Eugene Al			5/15/24
	Normal Line / SPOT	05/20/24-05/20/24	 	ess Your Luck	_	X				1	\$175.0	· ·	Eugene Al			5/15/24
	Normal Line / SPOT	05/19/24-05/19/24	 	erican Idol Live	2				Х	2	\$525.0	+	Eugene Al			5/15/24
							1 1		4							

CONFIRMATION CONTRACT

Date:

Comments:

KEZI/MeTV does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race, ethnicity or gender.

Accepted-Station:

Date:

Accepted-Agency/Advertiser: